الواجب الأول
حاصل جمع المقادير
3x+4y-z , 5x-4y-z   يســـاوي:

	
	
	8x 
 

	
	
	 8x+8y-2z 
 

	
	
	 8x-2z 

	
	
	-2x+8y 
 


 
حاصل طرح المقدار
3x+4y-z   من  5x-4y-z   يســـاوي:
	
	
	-2x+8y 
 

	
	
	2x-8y 
 

	
	
	8x+2z  
 

	
	
	2x-2z 
 




أوجد قيمة المقدار
8x-y-2z   اذا كان  x=1, y=-1, z=0.5:
	
	
	8

	
	
	 7

	
	
	 9

	
	
	 10

	
	
	

	
	
	

	
	
	


الواجب الثاني

 عند  تحليل المقدار الجبري  x^3-64  يكون الناتج:
	
	
	 〖(x-4)(x〗^2+4x+16)

	
	
	 (x-4)(x〗^2-4x+16)

	
	
	 〖(x+4)(x〗^2-4x-16)

	
	
	 〖(x+4)(x〗^2+4x+16)



تساوي: X  فإن قيمة 〖(x-2)〗^(2 )=121   اذا كان     
	
	
	 x= 13

	
	
	 x= 11

	
	
	 x= 142

	
	
	 x= 2


 
  تساوي: X  فإن قيمة 〖log〗_x 1000=3   اذا كان   
	
	
	 4 

	
	
	 100 

	
	
	 3 

	
	
	 10 

	
	
	







الواجب الثالث
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